CS 225
Reading for Section 9.1 (p.307-313)

Due Friday 3-15-13

1. The "greedy" approach to solving an optimization problem suggests constructing a solution through a sequence of steps, each expanding a partially constructed solution obtained so far, until a complete solution is reached.  On each step the choice made must be...
a. ____________

b. ____________

c. ____________

2. Does the greedy approach always find an optimal solution?

3. What problem is solved by Prim's algorithm?
4. Prim's algorithm starts with the subtree consisting of ________________ .  In each iteration, it attaches ____________________________ .  After ______ iterations, we have a subtree which includes all n vertices (so it's a "spanning" subtree), and the algorithm returns the current subtree.  

5. Solve Exercise 7a, p.314.  As in Figure 9.2, show the tree vertices and remaining vertices at the start of each iteration.  Draw the minimum spanning tree found by Prim's algorithm.
